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       Choose the correct option:                                                                                        (1x15=15) 
 

1. According to World Health Organisation the word reproductive health encompasses :- 

a) Reproductively healthy persons b) Normal physical and functional of reproductive structure    

c) Normal emotional and behavioral interactions in sex-related aspects d) All of these 

2. Early marriage results in :- 

a) Ill health of mothers b) High maternal mortality rate c) deformities in children d) All of these 

3. Family planning programme was initiated in the year :- 

a) 1951 b)2001 c) 1961 d) 1991 

4. Strategies for good reproductive health includes :-  

a) Awareness about reproduction b) Sex education c) Family planning programme d) All of these 

5. The oral contraceptive ‘Saheli’ was developed by :- 

a)World health organisation b) Central Drug Research Institute c) Reproduction and Child health 

care d) All of these 

6. Central Drug Research Institute is present in __________. 

a) New Delhi b) Lucknow c) Mirzapur d) Mumbai 

7. The following may not be the strategy of birth control measure :- 

a)Prevention of sperm transport b) Prevention of egg transport c)Prevention of ovulation            

d) Prevention of Implantation 

8. In periodic absence method, the act of copulation is prevented during :- 

a)Luteal phase b) Ovulatory phase c) Proliferative phase d) Follicular phase 

9. Lactational Amenorrhoea method is effective because :- 

a) No ovulation due to lactation b) No implantation c) Uterine endometrium d) All of these 

10. Barrier method include :- 

a)Condoms  b) Diaphragms c) Cervical caps d) All of these 

11. The following gis the chief component of sponge suppository :- 

a)Citric acid  b) Boric acid c) Nonoxynol d) Lactic acid 

12. Copper released by the Intra uterine devices causes :-  

a) Phagocytosis of sperms b) Affect fertilizing capacity of sperms c) Affects sperm motility           

d) Both (b) and (c)   

    



13. The following is the demerit of IUCDs :- 

a) Excess menstrual bleeding b) Risk of infection c) Tubal pregnancy d) All of these  

14. The subcutaneous contraceptive implants are called :-  

a) Norplants b) Combined pills c) Depo provera d) Mala D 

15. The permanent birth control method is :- 

a) Norplants b) Vasectomy c) Tubectomy d) Both (b) and (c)  
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